
1. Ordre des opérations  Série B 
 
Exercice 1 Calculer: 
 1)  

 2)  
 3)  

 4) 

( )3 3 2 35 3 5 3   − − + =
4 50,3 10   ⋅ =

( )3 5 04 2 3 2 7 3 + ⋅ − − + =

( )2
2 3 25 3  81 2⋅ − − =  

 
Exercice 2 Calculer: 
 1) 30,3  1000000 ⋅ =  

 2) ( )32 2 0 8 10 10 3 8 2⋅ + ⋅ − + =  

 3) ( )  
 

220,8 10,36 6 4+ − + =

Exercice 3 Calculer: 
 1) 20,5 : 0,01=  

 2) ( )  

 3) 

21,08 0,3 0,4+ ⋅ =
30,5  10000 ⋅ =  

 4) ( )23 0 44  81 5 2 2 3 1⋅ + ⋅ − − =  

 5) 
2

2

2 2

3 50 5
3 4 2

− + =
+ −

 

 
Exercice 4 Calculer: 
 
 1)  

 2) 

3 2 00,8 10 10 6 14,4 10⋅ − ⋅ + ⋅ =

( )

2 23
2

2
 0,125 13 1290  0,0049

0, 2 0,3
⋅ −

⋅ −
+

=  

3) ( )4 3 33  125  2 2 4 : 32⋅ − − =  
 
 
 
 
 
 
 
 
Solutions : 
Ex 1 :  1) 46 ; 2) 810 ; 3) 124 ; 4) 44 
Ex 2 : 1) 27 ; 2) 10’080 ; 3) 119 
Ex 3 : 1)25 ; 2) 1,44 ; 3) 12,5 ; 4) 87 ; 5) 6 
Ex 4 :  1) 214,4 ; 2) 557 ; 3) 38 
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